
19
30

45

35

38

47

1

  9
20

8

12

4

13

15

43

21

2 25

24

3
7

10

14

16

17

18

22

23

26

27

28

29

31

32

33

34 35

36

37

39

40

4041

42

 6

5

11

46

45

48

49
Rev 07/09/03

Item Part
No. Description No. Qty.

Item Part
No. Description No. Qty.

Item Part
No. Description No. Qty.

Working / Electrical Parts
1 Battery 00801-1234 1
2 25 Amp Fuse 0801-0151 1
3 6V Charger 00801-0975 1
4 3A Motor Gearbox Assembly 74780-950Z 1
5 3A Gearbox w/out Motor 74580-9269 1
6 Motor Pinion Assembly 74590-9539 1
7 Main Harness Assembly N/A 78410-9799 1
8 *Footswitch 0801-0538 1

Plastic / Other Parts
9 Body (N/A) 74280-2109 1
10 Subsitute Seat 74280-230A 1
11 Assist Handle N/A 74280-2199 1
12 Front Wheel N/A 74510-2459 1
13 Rear Wheel N/A 74510-2469 2
14 Driver N/A 77410-2239 1
15 Hubcap / Rear N/A 74280-2589 2
16 Hubcap / Front N/A 74280-2579 2
17 Flex Plate N/A 78410-2159 1
18 Swivel Bracket N/A 74510-2129 1
19 Footboard Cover N/A 74280-2159 1
20 Pedal w/Spri Clip Assm N/A. 74280-9429 1

21 Radio Knob N/A 74750-2179 2
22 Motor Cover 74750-2359 1
23 Fairing N/A 74280-272A 1
24 Headlight Lens Cover Set N/A 74280-214A 1
25 Hand Grip N/A 74280-2169 2
26 *Handlebar Plug N/A 74510-2169 2
27 Fender N/A 77410-2249 1
28 Dash N/A 74280-2699 1
29 Mic 74550-9479 1
30 Shock Set (Banded) N/A 74280-9089 1
31 Gas Cap N/A 74280-2179 1
32 Key Housing Assm N/A. 78490-9369 1

Hardware / Metal Parts
33 Axle Spacer Tube N/A 74510-4449 1
34 Battery Retainer 74510-4439 1
35 Handlebar Set (L & R) N/A 74510-421A 1
36 Front Axle 74510-4519 1
37 Rear Axle 74510-4549 1
38 Pivot Pin N/A 74510-4429 1
39 .354 Cap Nut 0801-0604 2
40 .437 Cap Nut 0801-0226 4
41 7/16” Washer 0801-0196 2

42 Lock Fastener 77571-2239 1
43 Wheel (Axle) Bushing 74550-2689 5
44 #8 x 1-1/4” Phillips Screw N/A 0801-0216 2
45 #8 x 1-1/2” Phillips Screw 0801-0308 4
46 #8 x 3/4” Phillips Screw 0801-0223 4
47 #8 x 7/8” Phillips Screw 0801-0228 1
48 #12 x 1.25 Screw N/A 0801-0260 1
49 Rectangular Bushing 74550-2689 2

Parts Not Shown
Large Parts Bag N/A 74280-9249 1
Small Parts Bag N/A 74280-9259 1
Hardware Bag N/A 74280-9259A 1
Literature Bag N/A 74280-9019 1
Owner’s Manual N/A 74280-0920 1
Main Decal Sheet N/A 74280-0320 1
Sm. Decals (Headlights & Bezels)74280-0340 1

(Located in Lit bag) N/A
Adhesive Harness Clip N/A

Bold and Underlined parts are to be purchased and installed by Service Centers only. These 
items may not be sold directly to consumers by Service Centers or Fisher-Price.

N/A = Not Available
*When handlebar plug is gone, order hardware bag (74280-9259A).

* See Service Bulletin 157

Service Bulletin 157

74280-9993

Kawasaki® Guide ‘n Drive CycleTM

Preschool Series
6 Volt

Age Range: 1-1/2 to 4 Years
Weight Limit: 50 Lbs.
Surfaces: Hard
Speed: 2.5 MPH Forward
Colors: White Body

Yellow Trim / Red Handle
Intro: 11-1998
Suggested Retail: $99.99
Box Dimensions: 31” x 18.5” x 21.5”
Box Weight 28.5 Lbs.
Warranty 90 Days Vehicle

6 Months Battery

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Highlight

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Cross-Out

danny
Highlight




